@ of 3 wheels

48 +3 =

54+3 =

DBDD DSBS
BB SBBD
DBD RDD
SBDD SBD
BB SBB
BBD RRD
SBD SBDD
DBB RBB
BBD BB
DD SBDB
BB DB B
RSB SBDD
DBB SBB
DRD RBD
DBDD SBDD
BB SBB
RRD
.
Use the wheels to do a jump of
10 lots of first.
Bronze

/mf 6 wheels

78 + 6=

SEBRBDDD
BEBBDBD
BRBRBPBDD
BEBBDDD
BBBRPBDD
BRDPBRD
BB BD
BEBRDBD
BRRPBDD
BEBBDBD
SBRDBD
BRRRBBDD
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84%6:\

BEBBDDD
BEBBDDBD
BBRBRDBDD
BEBRBDDD
BBBRBDBBD
BRBRDBDD
BRBROBDD
BEBRBDDBD
DBRBRDBDD
BEBBDDBD
BEPBBD

/@f 4 wheels
62 + 4 =

BBBD
BEBD
BBBD
BOBDD
BBBDD
BBBD
DBDD
BBBDD
DBBDD
SBBD
SPBDD
BBBD
SPBDD

PRBBRDD
DR BDD
DEPBDD

\_

64+4=\

BBBDD
SBBD
BBBDD
BBBD
BBBDD
SBBDD
DRDD
BBBDD
BBBDD
SRS
SPDD
BBBD
SBBDD
BBBD
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